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ofleyemr : (1) Swaisg edamss@nd sflurs SiFs0 LSleurs o erensT eraTLg@anN
sflurisgé Qarararayb. dsLLHMD Ganui@muldear Sops
sansreniiuiurarfiLb oL anquirs Qgfedldsewb.
2) o oz sHUY ewldlamern LLHGCW aWEHMEHEL LWETLHSS
Ceuar(Hd. UL ST uereusnE @uenéler Lwerl(HESse.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.
@iy : Qauellamsgrer ppenml Afleysamers Garermg.

Note : This question paper contains three sections.

9fley - I/SECTION -1

(& LQuesaer : 15) / (Marks : 15)

Gy : () @uifleder 2 arar 15 eflammssEpsEL oL wallsseb. 15x1=15

(i) <eoLuys ghllaed Qar@ssuul@erer wrpy e sefld
Bsaybd sflwrer ellenLeamws CarbEsHES 6T(pSeyLD.

Note : (i)  Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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Qupemss Csiey Cariumr_eL. QeueflufilLeuir

(smieve Lrireflé; abluCar-1q.-eflflev; HflaT Cgraen Qe _; gier LiriienL e
QLDITITE)

The theory of natural selection was proposed by :

(Charles Darwin; Hugo de Vries; Gregor Johann Mendel; Jean Baptise Lamark)

Gphs GYHMEEE Wsdd AaThasuu@n CrmussHUILE
(aumiaull GumeiGuir, DPT, DPT wpmid GumreliGuir, BCG)
The first vaccine injected into a just born baby is :

(Oral polio, DPT, DPT and Oral polio, BCG)

@m Qs 2 WAwrer SBuT wHHID Lrde Aukisalid peL QUMD GaiGUmHSS
CUENSSE(EHET QRET
(g@T_Tge, Qramrs Nearssd, SHBLGSD, GUTT 2 6L THe)

This is one of the methods of reproduction in Unicellular Organisms like amoeba and
bacteria, in which they split into two equal halves and produce new one is called :

(Fragmentation, Binary fission, Budding, Spore formation)

>

spemiy s L peopse Cemeailiu@eig

(0, wpmb Bir, uFerswd, Giw @efl, Qe Siwandgib)
The autotrophic nutrition requires :

(O, and water, Chlorophyll, Sunlight, all the above)

Custisamerg gramg. Qewpesurs weap QUL 2 o CeulQurmer

(QuriLrdwb SCureL®, sroflub sriuCarl, sHss L Bsmav(,
SCwreflwn urevGui)
chemical is used in seeding clouds.

(Pottasium iodide, Calcium carbonate, Sulphur di oxide, Ammonium phosphate)
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@rean® Hrauniser @eanhQeren S®TULTATTED BiFE ToumniseT
ereriu(Hib.
(@rer_pé soliLmael, @QITLDé SQOUTSME)
If two liquids are mutﬁally soluble they are called liquids.

(miscible, immiscible)

pH= —log,o[H*]. @m smreden eanl_rmer sweafluder Qsfley 0.001 M erafle,
@igen pH iy

(3,11, 14)

pH= —log;o[H*]. The pH of a solution containing hydrogen ion concentration of
0.001 M solution is ‘

@, 11, 14)

shsl eran saflowreng Csrowrss e lug Qome. @& STHH D)
BLen efemarfleug @eaome. Qg Blenaoudley o ararg).

(5155 Hlovad | Gairpbg éﬂ\mw)

Gold does not occur in the combined form. It does not react with air (or) water. Itis in

(native state, combined state)

srglldmpg o Carswrag @erusroragrsy WAs0sGssLULEEDS.
siflefluwrerg ursmev igalmbg 9ASQs0&EsLLGEDS. Q8!

oran DsaLILGEHDG. :

(&7 | seflwid)

Ore is used for the extraction of metals profitably. Bauxite is used to extract aluminium,
it can be termed as

(ore, mineral) -
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10.

11.

12.

13.

14.

4

BsCaaflen eumur® CH,, ig@mans QsrL(mb a@gg C,H, r5CGger. @)a
Qrerrg D@werer Qurgieurear Caumur®
(CH,/C,H,)

Formula of methane is CHy, and its succeeding member ethane is expressed in C,Hg.
The common difference of succession between them is

(CHy GHy)

eue| fleveulgierer samorear Qumrmeler 2 HsLo
(Bs flsd, Blas Gompay, &8, wigele)
The momentum of a massive object at rest is

(Very large, Very small, Zero, Infinity)

Q@ Wen eflers@safian llargem_saflen elldlgd 1:2 siemes QsrLrTs @@ SHHH
Qaarssiiupdamer arafldr e er@sgE0aTETERD @ Dnisaian eldsin

(Ls2 2081051

Two electric bulbs have resistances in the ratio 1 : 2. If they are joined in series, the
energy consumed in these are in the ratio g

(1:2,2:1,4:1,1:1)
- “
@85 Pupgeerseiieo ________ urdy wppiuriyseer L oi8s
Qautiugems = L saudpgl.
(Qeuairenin, QaryQeryiiure, &mHen, LWEHEET)
surface absorbs more heat than any other surface under identical conditions.
(White, Rough, Black, Yellow)

apuiyer euren GgreraGrréduler AuTmasLILL HeTar <l

(Beir cuenam 2piq., G i3 G Yy SWFET Bpig.)
The type of mirror used in Hubble space telescope is

(Hyperbolic mirror, Concave mirror, Convex mirror, Plane mirror)
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15. 2 Garss sLgflle uryb BaGariLb ssomars sodl @

2 (Heum&ELb.

(Qeutiub, gafl, srBsliyob, arhdr elas)

An electric current through a metallic conductor produces arround it.

(heat, light, magnetic field, mechanical force)

ey - II / SECTION - II
(HuQuetraer : 40) / (Marks : 40)

G&Hiuy - aCseb Bmug clamésenés oL welsseab. 20x2=40
Note : Answer any twenty questions.
16.

17,

SLEFEmGEW uarysar gar ApPlesss@eresn Cufleandg éseen@nb

LrYPUEL. EPEsTEID UMTLSET THsmaEW WIYUTOEET 2 6Terg) eTas

GINICICES

(1) vailss samfipbd feb, spUY, LEWLY, usms aa LIHUESHDS.
@éucuens wrHUTH -

() pwed, wrenen GurempeumHled SreRTUILIGD L SienoliLy wrmuL Hetersy.
Qeueuans WwTMUTHEET eraTlu(HI.

The heritable characters are varying in different species and within the same species.
Name the variation in the foliowing cases.

The eye colour among the human beings are varied as blue, black, brown, green etc.
(@) Thisiscalledas ________ variation.
The dentition in rabbit and elephant are not the same.

(b) This is called as variation.

LFT&L6L HMID GeureflCurist Crmiser Lrss GampurlLrd ghu@deamear.
Qs sfiHaets LMmss wuin, WwasdHd Séab WEL. @ésmpy shwr?
saupts QOEETD. ABES TEs.

Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not correct it.

[ $Blys / Turn over
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18. &uerer LLMS aumrhs QaTREsLLLGaTaIDOD GHlESLD.

AN
iy
(=1) @pdavmen (<) Quar_gren
(@) G&e> 2L b () Bevarss pigeys LGHs6T

Copy the diagram and label the given parts :"

(c) cyton (d) endplate

19. egrréadeflen uaflsdr gCa@ID @ramymans samns.

Give any two functions of Thyroxine.

20. Qupepeerufer Lexfiae wWreeu?

What are the functions of cerebrum ?
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21. Qer@éstul@erar ULSMmS cuamhg Spdrer LTshGmeTs @GHese|D

(b) Tube nucleus

22, (3|) BrevE DIMDHEHL6T Falgl cuulm 2 e ul eflevmkiE
(=) waflgaflen syraefl 2 Leé Qeuiuflene
(@) An animal which has four chambered stomach
(b) Normal body temperature of man is

23. QumTBSHS : »

(=) |@ré8s s Bsdr |- |QaualiGuppiIL@D srHY
(<) |[Hmbramsar - |eNwireneu

(8) |Cored - | @88 2 @paD

(%) |meyuiged - |Ambi
Match the following :

(a) |Blood platelets - |expired air

(b) |Kidneys - [Sweat

(c) |Skin - |blood clotting

(d) [Lungs - |urine

[ $mliys / Turn over
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24, QaT@EsILL(ETEr LLE®S auerbsl SpEsam LTsnsmaT &l

(1) awegl eriflub () @Lg gflub
(@) epeilsp euraay (w) milgp aurdeay
Draw the given diagram and label the following parts.

(a) Right atriuth (b) Left atrium ) &
(c) Tricuspid valve (d) Bicuspid valve
25. GUTAlgHedled eramLg) 6 SmLiG QarenrL Gefioid. @éigs bt
reTug) &flé Gamoib.
In the process of respiration is 6 carbon compound. The Lactic acid is

carbon compound.
26. (&) us@L (‘o’mgﬂuﬁl'waﬂsmre’u o @r_rgb. QurBEssE TO5568T-6

(<) Lsmwws ary Qauufi@e wrppd wLHHID yef
Qeuliuwrsame GHUOSSEDS.

(a) Example for product of green chemistry is

(b) green house gas which causes cl1mate change and global warming.
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(=) Bllenmmed 2 @@ Crmisg a@ss16aT 6 :
(=) dmpul Qup QuieTs eueTd
(@) Example for water-borne disease is

(b) is a non-renewable respurce.

28. G ST 2008-2009 b yemad gHULL AsTHy Crmisafer elaurd
@l aeyuLwbrs Qsr@sésuul(erarg. Qsmer smibg Cprésd
Spsaam_auping efenwell&sa).

QL@ smigse

(1) Quepburere wasmer Sréadiu CrmiugeT wWreneu?

(<) ereuaurmy @nbs Comisedr Lreydlemmen?

The pie diagram represents a survey result of infectious diseases of a village during
2008-2009. Analyse it and answer the following.

Dengue Fever

(a) Which diseases affected the majority of the population ?
(b) How are the diseases transmitted ?

[ §Liys / Turn over
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29. wmrhlyérer HEbLLQUD Gugid LHYID SHbul Qup QTS aIETRIS®ET
sflwrs QUITHSSIS.

- B c

QUETTRIGET *

" Hpbuls QU ueTBIGT afl STl Qui_Cymedlwid
Smbus Qup GRS eUEThISET | ADL JEREN Quipes any | GAlu gofl_dod

Match the suitable renewable and non-renev?iaﬁe sources.

Sources A B C
Renewable Coal Wind Petroleum
Non Renewable Hydrogen Natural gas  Solar energy

30. efl:éa;a)rymu Bfle smrsg Ogeillqw sy 2 meursSw e Gop@sre®
FrESMIML S®TES (PGWOT? BID TaTSDS S(MHS-

You have prepared a saturated solution of sugar. Is it possible to dissolve some more
grams of sugar to this solution ? Justify your stand.

31. 20 &, sepwwe 2 lieu o 8. fld serpHEbeTed dissmred Aablefer 55
Peopows sanss(s. :

Find the concentration of solution in terms of weight percent, if 20 gram of common
salt is dissolved in 50 gram of water.

32. eplrgaldn gossmy Heop 28. Sigan Heoop 14. eplrgeaida AgEés ()
GTGRTENERTE: STEHTS.

Molecular mass of nitrogen is 28. It's atomic mass is 14. Find the atomicity of nitrogen.

33. @mwy Ppaflows srlly soGUL sorsdger mausgb Curg smilyé
soGUL gan Hipb wrpdlenpg? o6 ufgissTar AeréE5m5S STl

Why does the colour of copper sulphate change when an iron nail is kept in it ? Justify
your answer. -




34.

35.

36.
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pen@ Qs e Qurmersafien pH LU &Qy Qar@ssLuC(HeTerg).

Quir(peTseT pH iy
smd 5.0
arILilEeng M| 24

68116 LweTLESSID AbGirafluim 12.0

s&aTafll FTO) 4.1

Sl Lamamu uEuUTUe Gelg §Cyp edrer CsdareilsE@réE®
an_weflGsa|b.

(1) HASHHY AUTHETEET SIS GFMEDL 2 ML ILIE6?
() THOBHSL QuTmHETEET ETTHSEEMD 2 L LIeneu?

The pH values of certain familiar substances are given below.

Substance pH Values
Coffee 5.0
Lemon Juice 2.4
House hold ammonia 12.0
Tomatto Juice 4.1

Analyse the data in the table and answer the following questions.
(a) Which substances are acidic in nature ?
(b) Which substances are basic in nature ?

sgflaflu psmeva sNQsran® @OsGL wopu¥ed gbiaiu
2 Garsgems gar Qup WPiuTg?

Why cannot aluminium metal be obtained by the reduction of aluminium oxide with
coke ?

peian saflo aufles SiLLaum@UTAS QgrLiserrid QsTEGHHTTID
ezl @ 2 6rer AHTLTEHET, QrEdsdr aanaismamws SMHS.

Modern periodic table consists of periods and groups. Mention the number of periods
and groups of the same.

[ HBLys / Turn over
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37.

38.

Qurmpsgs :

z

W& Sam eumium(

Qurg’ Quiwsiv

CH; OH oL Qs E_CLmen
CH; CHO™ 28146 Sfled
CH; CO CH;, A L6 geman®
CH; COOH QusHe <y dsanTed
Match the following :
Molecular Formula Common name
CH; OH Dimethyl ketone
CH,; CHO Acetic acid
CH; CO CH;3 Acetaldehyde
CH; COOH Methyl alcohol

Spssrgmid amppseid supsa galmLder sAQsis.

(=) ¢® Pyl Len s eramug gm dymbd Hemyerer Qurmaiier 1 ms—2
Yhss5m5 GHUOSSID elesulen SeTeas @héELb.

() eflenamuyib eréliraflenamud eru@urpgib @CF Qurmeafar g AswdU@LD.

Correct the mistakes if any in the following statements :

(a) One newton is the force that produces an acceleration of 1 ms=2in an object of

1 gram mass.

(b)  Action and reaction is always acting on the same body.

39. @afifl Agmfler @ ugHer wasdwwrer Lwer Geffl erAGQUTmT 2yELD. @efif
erfl@urmer eremugen QUTHEeT 2 TSI,

The important use of cryogenics is cryogenic fuels. What do you mean by cryogenic

fuels ?
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40. wrysmyr Hme epersaier Quuisdar §Cp sruUl HeTerar. SeupmieT e
san, seuprareupern L iqwelHs.
(smpp pp®, Gw Bdod, Siflar HHPS, S@ESDH YDHOD, @
DD, Yail-Siansd )
In the list of unconventional sources of energy given below some of them are wrong.
List out the wrong ones.

(Wind energy, solar energy, hydro electric power, nuclear energy, tidal energy,
wave energy, geothermal energy)

41. smor sdiser (v) Qupes sdfluss geflomisera Geuaflel LB g LssTer
sfreiFsn@Lb.
(<) Quies sfflusss saflvmsar QaaflelBn Couy sfiser wreaeu?
(<) Sians sdlieledlen et ssTar QDG aranan?
We know that (y)-rays are harmful radiations emitted by natural radioactive substances.
(@) Which are other radiations emitted from such substances ?
(b) What is the unit of nuclear radiation ?

42. 18 @b wHPYL 6 @b WergwLser 6 V Hase AGEG_a QAsTLITs
@aamasiu_(Heteran erafle,
(=) spfler Quorss WengenL
(<) sHHled Lmuybd BlenGatm b Qaupens samss[Hs.
Two resistances 18 () and 6 {)-are connected to a 6 V battery in series.
Calculate : fo
(@) The total resistance of the circuit.
(b) The cutrent through the circuit.

43. CGamglL @1 mseer Hlyliueyd :
(=1) GorLmi : feessmpsb, auraflu fEulerar Guom_Lnit :
(@) Gews Qsreraey : BLLT, Hpen .
Fill in the blanks.

(a) For motor : a permanent magnet, then commercial motor :
(b) Focal length of a lens : metre, then for power of a lens

[ s / Turn over
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44. Spss@T_aIpDS ENEED sanafilan UTSRS®ET cT(Sis.
(1) s@T LT@EIMWLIS s HUUESEID B@meT. s@siLLOD
(<) sameniléd> Qurefien QLD o @RTLAGL LFUy
Considering these write down the names of the parts in human eye.

(a) Dark muscular diaphragm that controls the pupil
(b) The screen where the image is formed by eye lens

45. araluéd QLT @HaHSE arerd sagradpEl udors Quad
sramiLOEDS. STTETD H(HS.
To an astronaut sky appears dark instead of blue. Give the reason.

19fey - 111 / SECTION - Il
(wHLQueTseT : 20) | (Marks : 20)
@iy : () @ader®m LEHOSHHEID @@ slem S50 IS Aenmés@néE
eQenLwafl&sa|b. 4x5=20
() @eaQaurm edemaild@Lo mhgl wHQueEET
(i) Cpemeuwiren @Lisafléd LLD eueys.
Note : (i) Answer any four questions by choosing one question from each part.
(i) Each question carries five marks.
(iii) Draw diagram wherever necessary.

u@$ -1/ PART -1
6. o Qs e MmussD a3 GUEHHEG s paremL ojefGgeTeng).
(1) epoé Qecsafian umssmar auflasliLBESS.
(<) Gv@LID Qsededlenm WESW LETLSET WiTenau?
(@) 2L epes Qeedsaer craiaung Qupliu@&emer?
Stem cell culture has brought a lot of benefits to mankind.
(a) List the types of stem cells.
(b) What are the characteristic features of stem cells ?

(c) How are the somatic stem cells obtained ?
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@GCLIUT 15, s sWelHb Bremrs Qsram UGS
(=1) 260 FATUGIEG & H(HSUSEDIE HTLOGEETE FnDis.
(=) @m prafler rhEsHs Cormsaild ms swasd Celieumi?
15th October is observed as “Hand Washing Day”.

(a) Tell your friend the effects of hand washing.

(b) Ina day, what are the occasions in which you wash your hand ?

U@ - 1 /| PART - IT
18. QmelsHoas sreur elmguler siewLliamu aSeuf&a.

Describe the structure of dicot seed.

49. yes, yos arE Cpréfgid Lms baTLab. QEGRe 2 Lo posHNE
THDsT sranues gHms Qarardprur? sfl eriliugemmd eHUBD SmbLLIEGD
Qewesamer UL GWSHS.

Smoke, smoke, everywhere smoke. Do you agree this situation is good for health ? List
out the harmful effects of coal burning.

u@$ - 11 / PART - III

50. @@ UMW ysallgen Hopyb @@ UwGLE maplrger Hapub 2 1&E
Qar@asriul_Dererar. 2Caur@s’ Cyr Ly ppasamy HopsEn <6l
SILTEHEGD 2 drer QprLiienu eumedlése,.

You are given the values of mass of one volume of oxygen gas and the mass of one
volume of Hydrogen. By applying Avagadro’s Law how will you establish the relation
between vapour density and molecular mass of a gas ?

51. o dsapTed LHEGUSTO FHudD Su ellemareyser wremeu?
What are the evil effects of consuming alcohol ?

[ SLiys / Turn over
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u@®$ - IV / PART - IV
52. (=) demQaualfleowtser, Bar prer AarQeauaile shGusTed waflls

o L@ ghu@L eleerajsmear %unwuuu_ldru@gguu@ﬂélmaﬂ.
@ssmphlear AuruLuBSSS.

(<p) F=Gmym,/d? erenug Hluyl L aflen Qe effulen sefls augaubd.
Byt Len Filnfwed efifufeen aurismssaile) er(pSIs.

(a) Space stations are used to study the effects of longspace flight on the human
body. Justify.

(b) F=Gmym,/ 42 is the matHematical form of Newton’s Law of gravitation.

G=gravitational constant, m;, m, are the masses of two bodies separated by a
distance ‘d’. Then give the statement of Newton’s Law of gravitation.

53. (&) urieeud GepUTHaE6T anpred erenen? edlené@s.

(<) Sewg sAQaLD pepow s,
(a) State and explain the defects of vision.
(b)) How can these defects be corrected ?

~o0o-




